	Company		Lord Baltim	nore Uniform	Feury Acqu	isition Corp.	Hanover Unifo	orm Company
Item	Group 1	Qty	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Jeans, 100% cotton; Red Kap PD60; Reg	60	\$14.85	\$891.00	\$14.03	\$841.80	\$18.55	\$1,113.00
	Jeans, 100% cotton; Red Kap PD60; Ext	20	\$14.85	\$297.00	\$16.83	\$336.60	\$22.15	\$443.00
	Pants, painters, white canvas, 100% cotton; Dickies 1953WH, Red Kap; Reg	125	\$19.65	\$2,456.25	\$17.71	\$2,213.75	\$22.45	\$2,806.25
	Pants, painters, white canvas, 100% cotton; Dickies 1953WH, Red Kap; Ext	25	\$19.65	\$491.25	\$19.51	\$487.75	\$24.75	\$618.75
	Slacks, women's, navy blue, twill blend; Red Kap PT21; Reg	25	\$6.35	\$158.75	\$13.82	\$345.50	\$17.10	\$427.50
	Slacks, women's, navy blue, twill blend; Red Kap PT21; Ext	25	\$6.35	\$158.75	\$16.58	\$414.50	\$20.40	\$510.00
4	Trousers, men's, navy blue, twill blend; Red Kap PT20; Reg	500	\$11.95	\$5,975.00	\$11.14	\$5,570.00	\$14.65	\$7,325.00
	Trousers, men's, navy blue, twill blend; Red Kap PT20; Ext	200	\$9.35	\$1,870.00	\$13.36	\$2,672.00	\$17.45	\$3,490.00
5	Shirt, long sleeved, light blue, 100% cotton; Red Kap SC30; Reg	40	\$15.50	\$620.00	\$15.39	\$615.60	\$18.85	\$754.00
	Shirt, long sleeved, light blue, 100% cotton; Red Kap SC30; 2XL	10	\$15.50	\$155.00	\$15.39	\$153.90	\$23.30	\$233.00
	Shirt, long sleeved, light blue, 100% cotton; Red Kap SC30; Ext	25	\$15.50	\$387.50	\$17.79	\$444.75	\$23.30	\$582.50
6	Shirt, short sleeved, light blue, 100% cotton; Red Kap SC40; S-XL	40	\$13.90	\$556.00	\$13.86	\$554.40	\$17.60	\$704.00
	Shirt, short sleeved, light blue, 100% cotton; Red Kap SC40; 2XL	10	\$13.90	\$139.00	\$13.86	\$138.60	\$21.00	\$210.00
	Shirt, short sleeved, light blue, 100% cotton; Red Kap SC40; Ext	25	\$13.90	\$347.50	\$16.02	\$400.50	\$21.00	\$525.00
7	Shirt, long sleeved, light blue, cotton blend; Red Kap SP14; S-XL	750	\$10.35	\$7,762.50	\$10.23	\$7,672.50	\$11.95	\$8,962.50
	Shirt, long sleeved, light blue, cotton blend; Red Kap SP14; 2XL	250	\$10.35	\$2,587.50	\$10.23	\$2,557.50	\$14.25	\$3,562.50
	Shirt, long sleeved, light blue, cotton blend; Red Kap SP14; Ext	300	\$10.85	\$3,255.00	\$11.83	\$3,549.00	\$14.25	\$4,275.00
8	Shirt, short sleeved, light blue, cotton blend; Red Kap SP24; S-XL	650	\$8.65	\$5,622.50	\$8.56	\$5,564.00	\$12.20	\$7,930.00
	Shirt, short sleeved, light blue, cotton blend; Red Kap SP24; 2XL	200	\$8.65	\$1,730.00	\$8.56	\$1,712.00	\$14.50	\$2,900.00
	Shirt, short sleeved, light blue, cotton blend; Red Kap SP24; Ext	300	\$8.95	\$2,685.00	\$9.89	\$2,967.00	\$14.50	\$4,350.00
	Shirt, polo style, navy blue, 50/50 blend; Gildan G880; S-XL	450	\$8.90	\$4,005.00	\$4.92	\$2,214.00	\$8.25	\$3,712.50
	Shirt, polo style, navy blue, 50/50 blend; Gildan G880; 2XL	150	\$8.90	\$1,335.00		\$738.00		\$1,740.00
	Shirt, polo style, navy blue, 50/50 blend; Gildan G880: Ext	300	\$9.50	\$2,850.00		\$3,009.00		\$3,480.00
	Good, Ext GSmock, utility, womens, light blue, poplin blend; Red Kap TP23; S-XL	225	\$9.50 \$11.90	\$2,677.50		\$3,609.00		\$3,480.00
	GSmock, utility, womens, light blue, poplin blend; Red Kap TP23; 2XL	75	\$11.90	\$2,677.50		\$2,891.00		\$3,228.73
	GSmock, utility, womens, light blue, poplin blend; Red Kap TP23; Ext	50	\$11.90	\$595.00		\$691.00		\$855.00
	Sweatshirt, 50/50 blend, navy blue; Jerzees 4662; S-XL	500	\$11.35	\$5,675.00		\$4,240.00	¢11 45	\$5,725.00
	Sweatshirt, 50/50 blend, navy blue; Jerzees 4662; 2XL	150	\$11.35	\$1,702.50		\$1,272.00		\$2,490.00
	Sweatshirt, 50/50 blend, navy blue; Jerzees 4662; Ext	400	\$11.90	\$4,760.00		\$5,984.00	\$16.60	\$6,640.00
	Tee shirt, short sleeved, pocket, 100% cotton, navy; Gildan G230; S-XL	75	\$8.85	\$663.75		\$515.25		\$626.25
	Tee shirt, short sleeved, pocket, 100% cotton, navy; Gildan G230; 2XL	25	\$8.85	\$221.25	\$6.87	\$171.75		\$296.25
	Tee shirt, short sleeved, pocket, 100% cotton, navy; Gildan; Ext	75	\$9.25	\$693.75		\$774.75		\$888.75

[Company		Lord Baltimore		Feury Acquisition Corp.		Hanover Uniform	
	Tee shirt, long sleeved, 50/50, navy, grey, white,				1 0 0.1 7 10 90	ionion o orpr		•
13	lime green; Gildan G840; S-XL	500	\$6.95	\$3,475.00	\$5.93	\$2,965.00	\$7.90	\$3,950.00
	Tee shirt, long sleeved, 50/50, navy, grey, white,							
	lime green; Gildan G840; 2XL	150	\$6.95	\$1,042.50	\$5.93	\$889.50	\$9.85	\$1,477.50
	Tee shirt, long sleeved, 50/50, navy, grey, white,							
	lime green; Gildan G840; Ext	250	\$6.95	\$1,737.50	\$8.65	\$2,162.50	\$9.85	\$2,462.50
	Tee shirt, short sleeved, 50/50, navy, grey, white;							
14	Gildan G830; S-XL	500	\$6.75	\$3,375.00	\$6.31	\$3,155.00	\$7.65	\$3,825.00
	Tee shirt, short sleeved, 50/50, navy, grey, white;							
	Gildan G830; 2XL	150	\$6.75	\$1,012.50	\$6.31	\$946.50	\$10.20	\$1,530.00
	Tee shirt, short sleeved, 50/50, navy, grey, white;							
-	Gildan G830; Ext	250	\$6.75	\$1,687.50	\$9.36	\$2,340.00	\$10.20	\$2,550.00
	Tee shirt, performance, long sleeved, navy blue,		**	A A T C T	67 6.1	#565---	.	ATO (CT
15	dark grey, white; Paragon 210; S-XL	75	\$8.95	\$671.25	\$7.81	\$585.75	\$10.15	\$761.25
	Tee shirt, performance, long sleeved, navy blue,	05	\$0.05	*000 7 5	\$7.04	¢405.05	¢40.45	\$044.0 5
	dark grey, white; Paragon 210; 2XL Tee shirt, performance, long sleeved, navy blue,	25	\$8.95	\$223.75	\$7.81	\$195.25	\$12.45	\$311.25
	dark grey, white: Paragon 210; Ext	25	\$9.95	\$248.75	\$11.18	\$279.50	\$12.45	\$311.25
	Tee shirt, performance, short sleeved, navy blue,	25	\$9.95	\$ 240.7 5	φ 11.10	\$279.50	φ12.40	φ311.20
16	dark grey, white; Paragon 200; S-XL	75	\$7.35	\$551.25	\$7.81	\$585.75	\$7.40	\$555.00
10	Tee shirt, performance, short sleeved, navy blue,	13	\$7.55	\$JJ1.2J	ψ1.01	φ303.73	φ7.40	ψ000.00
	dark grey, white; Paragon 200; 2XL	25	\$7.35	\$183.75	\$7.81	\$195.25	\$9.85	\$246.25
	Tee shirt, performance, short sleeved, navy blue,	20	ψ1.00	φ100.70	φ1.01	ψ100.20	ψ0.00	ψ2+0.20
	dark grey, white; Paragon 200; Ext	25	\$8.35	\$208.75	\$11.18	\$279.50	\$9.85	\$246.25
17	Patches		\$0.00	<i>\</i>		<i>Q</i>	\$0.00	¥2 :0:20
	Logistics, 2" x 4"	1000	\$0.59	\$590.00	\$2.15	\$2,150.00	\$0.90	\$900.00
	Maintenance, 2" x 4"	1000	\$0.59	\$590.00		\$1,990.00	\$0.90	\$900.00
	Operations, 2" x 3"	1000	\$0.90	\$900.00	\$2.15	\$2,150.00	\$0.90	\$900.00
	Group 2	1000	\$0.50	φ300.00	ψ2.15	ψ2,130.00	ψ0.30	ψ300.00
	Scrub Pants, black, 8-pocket, cargo style, full							
	elastic waistband, 65/35 poly/cotton blend;							
18	WonderWinks #5016(BLK): S-2XL	1500	\$9.65	\$14.475.00	\$10.30	\$15,450.00	\$12.60	\$18,900.00
	Scrub Pants, black, 8-pocket, cargo style, full		÷:.00	÷,	÷	÷ · · ; · · · · · · · · ·	÷	+ ,
	elastic waistband, 65/35 poly/cotton blend;							
	WonderWinks #5016(BLK); Ext	300	\$11.35	\$3,405.00	\$11.20	\$3,360.00	\$15.20	\$4,560.00
	Visor, solid black, low profile, performance							
19	material, Velcro (hook & loop) closure	1000		*Rejected	\$3.38	\$3,380.00	\$4.55	\$4,550.00
	Total	Yr		\$98,594.25		\$105,468.90		\$131,623.25
	Award Total x 2 years	2		\$197,188.50		\$6,760.00		

Bold indicates awardee

*Lord Baltimore Uniform bid item #19 was rejected for not meeting bid specifications.

	Company		Unifirst Corporation		Concept Uniform Co.		Riddell	
Item	Group 1	Qty	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Jeans, 100% cotton; Red Kap PD60; Reg	60	\$18.00	\$1,080.00	\$14.90	\$894.00		No Bid
	Jeans, 100% cotton; Red Kap PD60; Ext	20	\$25.00	\$500.00	\$17.45	\$349.00		No Bid
2	Pants, painters, white canvas, 100% cotton; Dickies 1953WH, Red Kap; Reg	125	\$19.75	\$2,468.75	\$19.15	\$2,393.75		No Bid
_	Pants, painters, white canvas, 100% cotton;							
	Dickies 1953WH, Red; Kap Ext Slacks, women's, navy blue, twill blend; Red Kap	25	\$19.75	\$493.75	\$20.75	\$518.75		No Bid
3	PT21; Reg Slacks, women's, navy blue, twill blend; Red Kap	25	\$21.00	\$525.00	\$14.87	\$371.75		No Bid
	PT21; Ext	25	\$22.00	\$550.00	\$17.30	\$432.50		No Bid
4	Trousers, men's, navy blue, twill blend; Red Kap PT20: Reg	500	\$14.00	\$7,000.00	\$13.10	\$6,550.00		No Bid
	Trousers, men's, navy blue, twill blend; Red Kap							
	PT20; Ext Shirt, long sleeved, light blue, 100% cotton; Red	200	\$15.00	\$3,000.00	\$15.38	\$3,076.00		No Bid
5	Kap SC30; Reg Shirt, long sleeved, light blue, 100% cotton; Red	40	\$18.00	\$720.00	\$15.78	\$631.20		No Bid
	Kap SC30; 2XL Shirt, long sleeved, light blue, 100% cotton; Red	10	\$18.00	\$180.00	\$18.40	\$184.00		No Bid
	Kap SC30; Ext	25	\$22.00	\$550.00	\$18.40	\$460.00		No Bid
	Shirt, short sleeved, light blue, 100% cotton; Red Kap SC40; S-XL	40	\$14.00	\$560.00	\$14.25	\$570.00		No Bid
	Shirt, short sleeved, light blue, 100% cotton; Red Kap SC40: 2XL	10	\$14.00	\$140.00	\$16.65	\$166.50		No Bid
	Shirt, short sleeved, light blue, 100% cotton; Red							
	Kap SC40; Ext Shirt, long sleeved, light blue, cotton blend; Red	25	\$16.00	\$400.00	\$16.65	\$416.25		No Bid
	Kap SP14; S-XL Shirt, long sleeved, light blue, cotton blend; Red	750	\$14.00	\$10,500.00	\$10.35	\$7,762.50		No Bid
	Kap SP14; 2XL	250	\$14.00	\$3,500.00	\$12.15	\$3,037.50		No Bid
	Shirt, long sleeved, light blue, cotton blend; Red Kap SP14; Ext	300	\$16.00	\$4,800.00	\$12.15	\$3,645.00		No Bid
8	Shirt, short sleeved, light blue, cotton blend; Red Kap SP24; S-XL	650	\$14.00	\$9,100.00	\$8.95	\$5,817.50		No Bid
0	Shirt, short sleeved, light blue, cotton blend; Red							
	Kap SP2; 2XL Shirt, short sleeved, light blue, cotton blend; Red	200	\$14.00	\$2,800.00	\$10.65	\$2,130.00		No Bid
	Kap SP24 Ext Shirt, polo style, navy blue, 50/50 blend; Gildan	300	\$16.00	\$4,800.00	\$10.65	\$3,195.00		No Bid
9	G880; S-XL	450	\$14.00	\$6,300.00	\$7.35	\$3,307.50	\$8.17	\$3,676.50
	Shirt, polo style, navy blue, 50/50 blend; Gildan G880; 2XL	150	\$14.00	\$2,100.00	\$10.40	\$1,560.00	\$10.17	\$1,525.50
	Shirt, polo style, navy blue, 50/50 blend; Gildan G880: Ext	300	\$15.00	\$4,500.00		\$3,120.00	\$10.17	\$3,051.00
40	GSmock, utility, womens, light blue, poplin blend;						φ10.11	
10	Red Kap TP23; S-XL GSmock, utility, womens, light blue, poplin blend;	225	\$14.00	\$3,150.00	\$12.45	\$2,801.25		No Bid
	Red Kap TP23; 2XL	75	\$14.00	\$1,050.00	\$14.70	\$1,102.50		No Bid
	GSmock, utility, womens, light blue, poplin blend; Red Kap TP23; Ext	50	\$16.00	\$800.00	\$14.70	\$735.00		No Bid
11	Sweatshirt, 50/50 blend, navy blue; Jerzees 4662; S-XL	500	\$10.00	\$5,000.00	\$9.10	\$4,550.00	\$10.67	\$5,335.00
	Sweatshirt, 50/50 blend, navy blue; Jerzees 4662;							
<u> </u>	2XL Sweatshirt, 50/50 blend, navy blue; Jerzees 4662;	150	\$10.00	\$1,500.00	\$14.45	\$2,167.50	\$12.67	\$1,900.50
	Ext Tee shirt, short sleeved, pocket, 100% cotton,	400	\$12.00	\$4,800.00	\$14.45	\$5,780.00	\$12.67	\$5,068.00
12	navy; Gildan G230; S-XL Tee shirt, short sleeved, pocket, 100% cotton,	75	\$7.00	\$525.00	\$6.70	\$502.50	\$3.95	\$296.25
	navy; Gildan G230; 2XL	25	\$7.00	\$175.00	\$8.95	\$223.75	\$5.95	\$148.75
	Tee shirt, short sleeved, pocket, 100% cotton, navy; Gildan; Ext	75	\$8.00	\$600.00	\$8.95	\$671.25	\$5.95	\$446.25
10	Tee shirt, long sleeved, 50/50, navy, grey, white,							
13	lime green; Gildan G840; S-XL	500	\$9.00	\$4,500.00	\$6.80	\$3,400.00	\$6.95	\$3,475.00

	Company		Unifirst Corporation		Concept Uniform Co.		Riddell	
	Tee shirt, long sleeved, 50/50, navy, grey, white,		oniniot e	orporation		00.		
	lime green; Gildan G840; Ext	250	\$10.00	\$2,500.00	\$8.25	\$2,062.50	\$8.95	\$2,237.50
	Tee shirt, short sleeved, 50/50, navy, grey, white;	200		φ2,000.00	\$0.20	<i>\\</i> 2,002.00	\$0.00	Ψ2,201.00
14	Gildan G830; S-XL	500	\$7.00	\$3,500.00	\$6.40	\$3,200.00	\$7.34	\$3,670.00
	Tee shirt, short sleeved, 50/50, navy, grey, white;		<i><i><i>ϕ</i>ϕϕ</i></i>	\$0,000.00	\$ 0.10	<i>\$0,200.00</i>	¢1101	\$0,01010
	Gildan G830: 2XL	15	\$7.00	\$105.00	\$8.70	\$130.50	\$9.34	\$140.10
	Tee shirt, short sleeved, 50/50, navy, grey, white;	-	,					•
	Gildan G830; Ext	250	\$8.00	\$2,000.00	\$8.70	\$2,175.00	\$9.34	\$2,335.00
	Tee shirt, performance, long sleeved, navy blue,			. ,				
15	dark grey, white; Paragon 210; S-XL	75	\$7.00	\$525.00	\$8.60	\$645.00	\$7.75	\$581.25
	Tee shirt, performance, long sleeved, navy blue,							
	dark grey, white; Paragon 210; 2XL	25	\$7.00	\$175.00	\$10.90	\$272.50	\$8.75	\$218.75
	Tee shirt, performance, long sleeved, navy blue,							
	dark grey, white; Paragon 210; Ext	25	\$7.00	\$175.00	\$10.90	\$272.50	\$8.75	\$218.75
	Tee shirt, performance, short sleeved, navy blue,							
16	dark grey, white; Paragon 200; S-XL	75	\$7.00	\$525.00	\$6.30	\$472.50	\$5.75	\$431.25
	Tee shirt, performance, short sleeved, navy blue,							
	dark grey, white; Paragon 200; 2XL	25	\$7.00	\$175.00	\$8.70	\$217.50	\$5.75	\$143.75
	Tee shirt, performance, short sleeved, navy blue,							
	dark grey, white; Paragon 200 Ext	25	\$7.00	\$175.00	\$8.70	\$217.50	\$6.75	\$168.75
17	Patches							
	Logistics, 2" x 4"	1000	\$3.00	\$3,000.00	\$0.65	\$650.00		No Bid
	Maintenance, 2" x 4"	1000	\$3.00	\$3,000.00	\$0.65	\$650.00		No Bid
	Operations, 2" x 3"	1000	\$2.00	\$2,000.00	\$0.60	\$600.00		No Bid
	Group 2							
	Scrub Pants, black, 8-pocket, cargo style, full							
	elastic waistband, 65/35 poly/cotton blend;							
18	WonderWinks #5016(BLK); S-2XL	1500	\$12.00	\$18,000.00		No Bid		No Bid
	Scrub Pants, black, 8-pocket, cargo style, full							
	elastic waistband, 65/35 poly/cotton blend;							
	#5016(BLK); Ext	300	\$13.00	\$3,900.00		No Bid		No Bid
	Visor, solid black, low profile, performance							
19	material, Velcro (hook & loop) closure	1000	\$7.00	\$7,000.00		No Bid	\$10.00	\$10,000.00
	Total			\$135,422.50		\$84,087.95		\$45,067.85
	Award Total x 2 years	2						

Bold Indicates awardee